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QUESTION 1

Which of the following parameters is not contained in STP configuration BPDUs? 

A. Root ID 

B. VLAN ID 

C. Bridge ID 

D. Port ID 

Correct Answer: B 

 

QUESTION 2

If a company network administrator wants to be able to remotely manage branch network devices, which of the following
protocols will be used? 

A. CIDR 

B. RSTP 

C. Telnet 

D. VLSM 

Correct Answer: C 

 

QUESTION 3

The following shows the DHCP address pool configuration of a router. Which of the following statements are true?
(Choose three.) 

A. The lease time of the IP address is 12 hours. 

B. The DHCP client may obtain the IP address 192.168.1.2. 

C. The address pool has 199 available IP addresses. 

D. The address pool has 55 available IP addresses. 
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Correct Answer: ABC 

 

QUESTION 4

Refer to the graphic. GE0/0/1 and GE0/0/2 on the switch are configured as hybrid interfaces. Which of the following
statements are true? (Choose all that apply) 

A. The administrative department and the finance department cannot exchange visits because the VLANs belonging to
the two departments are different. 

B. The data frame sent by the administrative department carries the tag in the switch as VLAN20. 

C. The data frame sent by the finance department carries the tag in the switch as VLAN20. 

D. The switch here can be a Layer 2 switch or a Layer 3 switch because communication does not need to go through a
Layer 3 gateway. 
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E. If both ports GE0/0/1 and GE0/0/2 of the switch are modified to be trunk ports, the two departments can
communicate normally. 

Correct Answer: BC 

 

QUESTION 5

After checking the OSPF neighbor state, the administrator discovers that the router has established a TWOWAY state
with the peering router. What can be understood from this information? (Choose two) 

A. The routers are configured using the same process ID 

B. The routers are configured using the same area ID 

C. The routers are configured using wrong router ID 

D. The routers are considered DROthers in a broadcast network 

Correct Answer: D 
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